
 

 

Answer on Question #56018 – Math – Algebra 

Task 4. Which of the following is a true statement about functions. 

A: If 𝐴 and 𝐵 are matrices, then 𝐴𝐵 =  𝐵𝐴 

B: If 𝑓 and 𝑔 are functions, then (𝑓 𝑜 𝑔)(𝑥)  =  (𝑔 𝑜 𝑓)(𝑥) 

C: If 𝑓 and 𝑔 are functions, then (𝑓 +  𝑔)(𝑥)  =  (𝑔 +  𝑓)(𝑥) 

D: If 𝑓 is a function, then 𝑓(𝑎 +  ℎ)  = 𝑓(𝑎)  + 𝑓(ℎ)  

Answer: C. 

Task 6. Solve the system of equations below. 

{
5𝑥 − 2𝑦 = 18
3𝑥 + 3𝑦 = 15

 

A: (1,4) 
B: (-1,4) 
C: (4,1)  
D: (-4,1)  

 

Solution 

Divide the second equation by 3 and then multiply by 2 

{
5𝑥 − 2𝑦 = 18
3𝑥 + 3𝑦 = 15

 ⇔ {
5𝑥 − 2𝑦 = 18

𝑥 + 𝑦 = 5
⇔ {

5𝑥 − 2𝑦 = 18
2𝑥 + 2𝑦 = 10

  

Then find the sum of these equations: 

7𝑥 =  28 ⇔ 𝑥 = 4 

Then find 𝑦: 

𝑥 + 𝑦 = 5 ⇒ 𝑦 = 5 − 𝑥 = 5 − 1 = 4 

Answer: C (4; 1)  

Task 7. Find the sum of the first 50 terms of the sequence below. 

𝐴𝑛 = 3𝑛 +  2  

Solution 

This is arithmetic sequence. Find its first two elements: 

𝑎1 = 3 ∙ 1 + 2 = 5 

𝑎2 = 3 ∙ 2 + 2 = 8 

And find difference of its sequence: 

𝑑 = 𝑎2 − 𝑎1 = 3 

Use the following formula: 

𝑆𝑛 =
2𝑎1 + (𝑛 − 1)𝑑

2
∙ 𝑛 

We get: 



 

 

𝑆50 =
2 ∙ 5 + (50 − 1) ∙ 3

2
∙ 50 = 3925 

 

Answer: 3925. 
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